n a c k We promise you're going to have a great experience.

snllltlﬂlls Boldly?eative Expert Customer Service Focus On Quality Ships Same Day

Modular Device Testing Rack
Shelf

Installation Instructions

RackSolutions.com If we can’t mount it, no one can.



Kit Contents

Kit Contents: Mounting Hardware:
(1) Modular Shelf (9) 10-32 x .500 Pan Head Screw
(2) Ball Bearing Slides (Left & Right) (9) 12-24 x .500 Pan Head Screw
(2) Rear Rail Brackets (Left & Right) (9) 12-24 x Square Nut
(1) Cable Management Attachment (9) 12-24 x Cage Nut

Assembly Hardware:
(8) 8-32 x .375 Truss Head Screws
(8) 8-32 Keps Nuts
(2) 8-32x.312 Flat Head Screws

Installation Instructions

Step 1 Measure the “Mounting-Depth" of your rack from the front of the “Front-Mounting-
Surface" to the back of the “Back-Mounting-Surface" (see the figure below).
4Post Cabinet Double 2Post
= =
z x z ©
2 3 2 i
[T o [V 14
L 1 L ]
‘4— MOUNTING DEPTH —>| ‘4— MOUNTING DEPTH —>|

Step2  The rear rack brackets will be installed as shown below for this "Mounting-Depth"
range.

° o] ° |::| o o o o [=o=. o—0—0—
"Mounting Depth" 18.5" - 31.0" ——

Step 3  Detach the outer part of the left and right ball bearing slides from the shelf by sliding
the rail back and pulling the release tab. The slide release is a white tab located
along the inner rail.

Page 2

RackSolutions.com If we can’t mount it, no one can.



4Post Installation Instructions

Step3  Once the outer rails are release, attach the left and right Rear Rail Brackets to the
outer most rail using (4) 8-32 Truss Head Screws and (4) 8-32 Keps Nuts per
bracket.

8-32 Truss Head Screw

®

@xs-sz Keps Nut

Rear Rail Bracket (Left)

Step4  Attach the Front and Rear of the rails to the 4Post rack as shown below using
supplied (4) 12-24 Pan Head Screws and (4) 12-24 Cage Nuts on each side. Repeat
for the other side.

12-24 Pan Head Screw 12-24 Cage Nut

Front Rack Attachment Rear Rack Attachment

Page 3

RackSolutions.com If we can’t mount it, no one can.



n a ck We promise you're going to have a great experience.

snllltlﬂlls Baldly?eative Expert Customer Service

Step4  Attach the Modular Shelf to the slides by interlocking the inner and mid rails on the
left and right, pushing the shelf into the rack. Once locked in, pull the blue tabs
located on the inner rail to finish pushing the shelf into the rack. Secure the shelf
using the attached thumb screws.

Focus On Quality Ships Same Day

Compatible Products

Scan QR Code to see compatible products.

Warranty Statement

Innovation First, Inc. warrants our products against defects in material and workmanship for a
period of one (1) year from the date of purchase. Innovation First, Inc. liability shall be limited to
repairing or replacing, at our option, any defective product.

RackSolutions.com If we can’t mount it, no one can.




